Implied Time Lost [s]

Time Lost: dot1qip4vxlan-12bd-{Y}ct*! &= & iy R 5508 R lih.
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Test Cases [Index]

1. (10 runs, avg pkt loss: 37.4, stdev: 5.54) 1ch-1ach-2vh-1vm1t

2. (10 runs, avg pkt loss: 35.6, stdev: 2.92) 2ch-1ach-4vh-2vm1t

3. (10 runs, avg pkt loss: 27.8, stdev: 0.13) 4ch-1ach-8vh-4vm1t

4. (10 runs, avg pkt loss: 29.8, stdev: 0.18) 6¢ch-1ach-12vh-6vm1t

5. (10 runs, avg pkt loss: 28.0, stdev: 3.16) 8ch-1ach-16vh-8vm1t

6. (10 runs, avg pkt loss: 27.3, stdev: 5.18) 10ch-1ach-20vh-10vm1t
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https://plot.ly/

